[fRILT A &S liE#]
1 ERE 2746 ADEIM

BUHRGIEH (104.8) (FRIBLLT S NASDDOTE, sFRIALLE 25 N AEHRO LR,
EHBROZHFMEIER (104.1) [FRIALLTREKE, sIFEALIE 25 NA&EHRD LS.
BR (BREZFR<) RUOIRIVF-2RFE<MEER (101.7) [FRIALETRKE,
RIFRRLLIE 23 D A&HRDO LR,

ONOR®)

2 REEE AHERZER(BAEY BH (BEER) RUIRLF—ZR{BEER

B RTH (%) AR H He (%)
(S = 5 % 104. 8 A0.2 0.7
A B OB 2 B O R A O 104. 1 0.0 0.2
BE EEZRLS) KO 2 X —2RBEHEEK 101. 7 0.0 0.3

3 HIAMNLOEERUFIERA & DLLE
~RIALIE, HBREN LS, BNHATE, NFEALIE, BRNLS, 358« BENTE, ~

10 XEREH AAL, IFRALRUVFSE
7 s y ﬁ'ﬁ?@ * %ﬁﬂ E ¢ %&H&&U y &_\‘@ ° 4 E e =
TV : . ¥ | =
e = ﬁ */l’ 1£ E‘ 7k ﬁ %{ﬁi}ﬁ IIIEIIII )’E % 1%@@55\ ﬁ {g %( H ﬁ%tﬁ‘% H%;EE’
B 104.8 109. 8 101.0 113.3 99. 4 109.0 99. 6 103.6 100. 7 96.9 107.9
il H ft A 02 AO06] A0l AIlI1ll AO03 AO02 0.0 0.2 0.0 0.6] A 0.5
®) . . . . . . . . . . .
5 A 0.2 AO0.17 A 0.01| A 0.10] A 0.01| A 0.01 0.00 0.03 0.00 0.06] A 0.03
HIJQE(E)H K 0.7 5.2 0.1] A 2.1 A 2.1 0.9 0.4 A 3.2 3.7 A 0.3 A 1.1
5 0.7 1. 35 0.01] A 0.18] A 0.06 0. 04 0.02| A 0.47 0.10] A 0.03| A 0.07
M3 10XEBAMALTEE M4 10XEBANMERALTEE
14 14
12 12
10 10 |
08 08
06 06
04 04
02 02
0.0‘. | - - — 00 ti B — [J —
-0.2 -02 -
-04 -04
-06 -06
-08 - -08 -
1o | aSSEMAL) | 10 "H5EWFAAL) |
T e s s -1.2
-1.4 : -14 : : : :
B O X ® #® £ X % H H# B F %  #® K X & #H H#
# B B B K £ B® F =E # # & 2l 8 AR i b " = #
: : R E : w : : & £ : iR &
KoK U K & ES K ES (43 bt} £
E OE®F B & B ES & &
A # A 2]




